
Quiz 21 Math-0950-es36 2012 March 2

1 Consider the equation
2x + y = 9.

Find a point on the graph of this equation whose y-coordinate is −1. (Show what numerical calculation
you make or what equation you solve.)
I set y = −1 and solve for x:

2x + y = 9;
2x + (−1) = 9;

2x = 10;
x = 5.

Therefore, the point in question is
(x, y) = (5,−1).

2 Consider the equation
y = −2x + 5.

a Pick three di�erent values for x and make a table of values showing the corresponding values of y.
For thoroughness, I ll pick �ve values: x = −2,−1, 0, 1, 2.

x, y = −2x + 5;
−2, −2(−2) + 5 = 9;
−1, −2(−1) + 5 = 7;

0, −2(0) + 5 = 5;
1, −2(1) + 5 = 3;
2, −2(2) + 5 = 1.

b Using your table of values, draw a graph of this equation. (Be sure to label the scale on your axes!)
I plot these �ve points and draw a line through them, with arrows on the end since it keeps going. The
graph is on the next page:
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